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10.2  Part (a) of the figure gives the pitch diameters of a set of spur gears forming a train.

Compute the kinematic coefficient of the train. Determine the speed and direction of
rotation of gears 5 and 7.
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10.8  In part (a) of the figure, shaft C is stationary. If gear 2 rotates at 800 rev/min ccw, what
are the speed and direction of rotation of shaft B?
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10.11 In part (b) of the figure, gear 2 is connected to the input shaft. 1f arm 3 is connected to the
output shaft, what speed reduction can be obtained? What is the sense of rotation of the

output shaft? What changes could be made in the train to produce the opposite sense of
rotation for the output shaft? '
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10.17 Shaft 4 in the figure is the output and is connected to the arm. If shaft B is the inp_'Jt and
drives gear 2, what is the speed ratio?
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